TEMICETLIERRAREDAERR (SEIE)

k2842 ABIE &
AlE B I 7E B i Kix #IE(u Sv/h)
. FHIOR 2y 0.07
30 = 0.07
. FHIORS Eh 0.07
F 30 0.07
. FHIORS Eh 0.06
F 30 0.06
g FHIOB Eh 0.07
F 30 0.07
. FHIOBS 2y 0.08
F1438 = 0.07
6H THiORF - 0.07
1530 . 0.07
g FHIOBS . 0.08
F 30 0.07
. FHIOBS . 0.08
F 30 0.08
o5 FHIOBS = 0.06
1% 30F 0.08
. T HijORF Eh 0.07
1% 30F 0.08
g FHIOBS = 0.08
%3 0.08
128 FHIOBS 2y 0.09
F 1430 = 0.07
138 FBIIOHF SUDLTE 0.06
1% 30F 0.06
1ag FHIOBS sy 0.07
F 130 = 0.07
155 FHIOBS . 0.06
1% 30F 0.06
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k2842 ABIE &
AlE B I 7E B i Kix #IE(u Sv/h)
. FHIORE Eh 0.07
F 30 0.08
75 FHIORE Eh 0.06
F 30 0.07
. FHIORE Eh 0.09
F 30 0.07
(o FHIORE - 0.06
30 = 0.07
208 THiORF 2y 0.07
30 = 0.09
. FHIORE . 0.06
F 30 0.07
0o THiORF 2y 0.07
30 = 0.07
235 THiORF 2y 0.07
F1438 = 0.07
o4 T HijORF 2y 0.07
1530 - 0.06
»s FHIORS = 0.06
1% 30F 0.06
268 T HijORE Eh 0.07
%3 0.08
- FHIORS = 0.06
1% 30F 0.08
. FHIORS . 0.08
1% 30F 0.06
»o FHIORS sy 0.07
F 130 = 0.07




